2.6(1)
Scatter Plots and Best Fit Line






date _____

CCSS.MATH.CONTENT.HSA.CED.A.2, CCSS.MATH.CONTENT.HSF.IF.B.6
CCSS.MATH.CONTENT.HSF.BF.A.1.C, and CCSS.MATH.CONTENT.HSF.LE.A.2
Goals:
To fit a line to data and write the equation for that line and to determine correlation of a set of data
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Correlation: ______________________________________________________________
Positive correlation: ________________________________________________________

Negative correlation: _______________________________________________________
No correlation: ____________________________________________________________
Line of Best Fit: ___________________________________________________________

Ex 1
Determine whether each set of data has positive, negative, or no correlation.
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The table lists the wind-chill factor, an indication of 

how cold it feels outdoors, for various temperatures 

(in °F) when a 15 mi/hr wind is blowing.
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a.)  Determine the correlation of the data.

b)   Determine the Line of Best Fit

c.) Predict the wind-chill when the air temperature is 30°.

d.) Predict the air temperature when the wind-chill is -45°.

Ex 3
The table below shows the years of experience for eight technicians at the same company and the hourly rate of pay each technician earns. 

	Experience (years)
	9
	4
	3
	1
	10
	6
	12
	8

	Hourly Rate of Pay
	17
	10
	10
	7
	19
	12
	20
	15
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a.) Write an equation for the line of best fit.

b.) Predict the hourly rate of pay for 7 years of experience.

c.) Predict the years of experience for a technician who makes $16 an hour. 
Plotting points and determining the line of “Best Fit” (TI-83+)
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1.
Press [STAT]  

Select [EDIT]   [ENTER]
Enter the x-coordinates in the L1 column 

Enter the y-coordinates in the L2 column
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2.
[2nd]  [STAT PLOT] - on the [Y=] button

Select the first plot [ENTER]
3.
Press [ENTER]  to select On, which turns on plot 1 

Press the down arrow to select the type - (dot plot)

The Xlist is L1

The Ylist is L2

You can also select the type of dots
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4.
Now you are ready to graph - press [GRAPH] 


5.
Now to find the line of Best Fit.
Press [STAT] 

Arrow to the right to highlight CALC
Arrow down to select  LinReg(ax+b)  press [ENTER] 
6.
The new screen displays  the function  LinReg(ax+b)

You will enter L1, L2  - [2nd]  [1]  [,]  [2nd]  [2] 

(to identify where the x and y values are stored)
Press [ENTER]

7.
The values of “a” (slope), “b”, “r2”, and “r” will be 
Displayed.  Write down the values of a and b


8.
Now go to [Y=]
In the Y1 row enter the value of “a” press [x]  [+]  

the value of “b”

Now Press [GRAPH]
The graph will then display the plotted points 

and the line that “best fits” those points.
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HINT: you may need to adjust the window to display your plot.	


You can do this by pressing [ZOOM] and selecting ZOOM STAT





HINT: if your correlation coefficient doesn’t show, you need to go into the CATALOG [2nd] [0] and select DIAGNOSTIC ON.  Press [ENTER] and it will say “DONE”
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